
THEORY OF EQUATIONS

Common Roots

Find the Common roots ofequations
x" - (x- +1 =0

n- (n)
- 2x +1 =0

solve them completely.
Sol u - 7x +1 =0 -0
X 2 - 24 - 2x+1 =0 -



x+2

-susn+/nsuncnte
&n - 4x" -4x+2

-

isansan
x
-
34 + 1

-

-
.g.cdof0 & U is

12 -3+1 -



: Common Roots ofO &are givenly.
12 - 3x + 1 =0

ax+bx+c=0

n =4(R)
x

=3I55
->
2

Common Roots are 55 -



29.0 isx" - 7x+1 =0

g.c.d divides x+3x+1

=> n-3n +1)-inthe
3u) - 8u2 + 1

-
qu130
xd - >n +

1

p- - 3n +1

-



Other roofs ofef are given by
x2 +3x+1 =0 aut+bx +c=0

-

xn -31(9 - 4(1)(1)
-

2(1)

=
-55 -0

:from



Rootsofel. 0 are

155, -115
2). I is

n3 - 2x2 -24 +1=0

G.Cd divide



12 - 3n +1)3- 2u +11
x +1

3

3In↳

22 - 3x
+1

x8 - 3x +1
-
#

other roofs ofef are given by
x +1=0

x = - 1. -



Roots ofee. I are

355, fromNe-
1


